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A% 1 2 3 4 5
& % (Y) 12 20 32 36 42
4 % 4(X) 3 5 8 9 12
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df 100 oo toas tow toos o0y

1 3.078 6.314 12.706 31.821 63.657 318.31
2 1.886 2.920 4.303 6.965 9.925 22.326
3 1.638 2.353 3.182 4.541 5.841 10.213
4 1.533 2.132 2.776 3.747 4.604 7.173
5 1.476 2.015 2.571 3.365 4.032 5.893
6 1.440 1.943 2.447 3.143 3.707 5.208
7 1.415 1.895 2.365 2.998 3.499 4.785
& 8 1.397 1.860 2.306 2.896 3.355 4.501
9 1.383 1.833 2.262 2.821 3.250 4,297
0 t 10 1.372 1.812 2228 2.764 3.169 4.144
3 1 1.363 1.796 2.201 2.718 3.106 4,025
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A& B & C#%
36 50 85
49 38 53
50 65 66
32 40 76
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5 AT HE4 T : F,, =3.7083, F,, =3.8625, Fg, =4.0662 ,
Foon = 4.3468 ,  F,y, =4.1028 ,  F,q =4.2565 , F,, =4.4590 ,
Fop = 4.7374 ©
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